Count

Count

Count

500 -

250 = I
0 - 1 1 1 1
0.0 0.5 1.0 15
Tracer mass (g) by channel
500 -
250 - i
0~ ] ] ]
10 20 30
Mean transit time (h)
500 -
250 -
0- ] ] ] ]
0 25 50 75 100
Pe

500 =
250 = J[lll
O - 1 1 1 1
0.0 0.5 1.0 15
Tracer mass (g) by channel
500 =
250 - i ﬂ]
0= ] ] 1
10 20 30
Mean transit time (h)
500 =
250 - "‘
0- B N
1 1 1 1 1
0 25 50 75 100

Pe
Channel I:I 1 I:I 2 I:I 3

500 -

250 =
0- ALIL il
1 1 1 1
0.0 0.5 1.0 15

Tracer mass (g) by channel

500 -
250 - |I]
0- mdﬂn...u[h_
1 1 1
10 20 30
Mean transit time (h)
500 -
250 - ﬂ
0-3 ] ] l"L ]
0 25 50 75 100
Pe



